The group G is isomorphic to the group labelled by [ ”could not identify G” | in the Small Groups library.
Ordinary character table of G = PSL(3,3):

la 2a 3a 3b 4a 6a 8a 8b 13a 130 13c 13d

X1 1 1 1 1 1 1 1 1 1 1 1 1

xe |12 4 3 0 0 1 0 0 —1 —1 —1 —1

x3 |13 -3 4 1 1 0 -1 -1 0 0 0 0

Xa |16 0 -2 1 0 0 0 0 E(137 4+ E(13Y 10+ E(13°12  E(13)° 7+ E(13Y° 8+ E(13°11  E(13)+ E(13)° 3+ E(13Y°9  E(13)° 2+ E(13) 5+ E(13)°6

xs |16 0 -2 1 0 O 0 0 E(13) 7+ E(13)" 8+ E(13)" 11 E(13)+ E(13)" 3+ E(13)°9 E(137 24+ FE(13) 5+ E(13)76 E(13) 4+ E(13)" 10+ E(13)" 12

x¢ |16 0 -2 1 0 O 0 0 E(137 24+ E(13) 5+ E(13)76 E(13) 4+ FE(13) 10+ E(13)"12 E(13) 74+ E(13) 8+ E(13)" 11 E(13)+ E(13)"3+ E(13)°9

xr |16 0 -2 1 0 O 0 0 E(13)+ E(13)"3+ E(13)°9 E(13 24+ FE(13) 5+ E(13)76 E(13) 4+ FE(13) 10+ E(13)"12 E(13) 7+ E(13)" 8+ E(13)" 11

xs |26 2 -1 -1 2 -1 0 0 0 0 0 0

Xo |26 -2 —1 —1 0 1 E@®)+E®B"3 —E@®) —E®) 3 0 0 0 0

X10|26 -2 -1 -1 0 1 -—E@)—E@®"3 E@8)+E®8) 3 0 0 0 0

xii |27 3 0 0 -1 0 ~1 ~1 1 1 1 1

x12/39 -1 3 0 -1 1 1 1 0 0 0 0
Trivial source character table of G = PSL(3,3) at p = 3
Normalisers N; Ny Ny N3 Ny Ny Ng N7
p — subgroups of G up to conjugacy in G P, P, P; P, P Ps P;
Representatives n; € N; la 20 4a 8a 8b 13a 130 13c 13d la 2a |la 2a 2a 2a |la 2a 2a 4a 8b 8a la 2a 2a 4a 8b 8a la 2a |la 2a 2a 2a
T 10 x24+0 x3+1 xat0x54-0 x6+1 x7+L-xstlxotl x0+0 x1+2 x12| 189 —3 1 3 3 —E(13Y 2—E(13) 5—E(13Y 6 — E(13) 7— E(13) 8 — E(13) 11 “E(13) — E(13) 3— E(13) 4— E(13) 9— E(13) 10 — E(13) 12 —E(13Y 2—E(13Y 5—E(13) 6 — E(13) 7 — E(13) 8 — E(13) 11 —E(13)—E(13) 3— E(13) 4— E(13) 9— BE(13) 10 — E(13) 12 0 0]0 0 0 0]0 0 0 0 0 0 0 0 0 0 0 0 0 0]0 0 0 0
0-X1+0-x2+1-x3+0-xa+0-x5+1-x6+0-x7+1-Xs+0-xo+1-x10+0-x11+0-x12| 81 -3 3 —1-E®B)—E@8)3 —1+E(@8)+EB)3 E(13Y° 2+ E(13Y" 5+ E(13)" 6 E(13Y 4+ E(13)" 10 + E(13)" 12 E(13 7+ E(137 8 + E(13)° 11 E(13) + E(13)° 3 + E(13)°9 0 0[O0 0 0 0|0 0 0 0 0 0 0 0 0 0 0 0 0 0|0 0 0 0
0-x1+0-x2+1-x34+0-xa+1-x54+0-x6+0-x7+1-xs+1-x0+0-x10+0-x11+0-x12| 8 -3 3 —-1+FE®)+E®B"3 —-1-E(8)—E(@®)3 E(13) 7+ E(13) 8+ E(13)" 11 E(13)+ E(13)" 3+ E(13)"9 E(13) 24+ E(13) 5+ E(13)°6 E(13) 4+ E(13) 10+ E(13)" 12 o ojo0o O O OO0 O O O 0 0 0 0 0 O 0 0 0 oj0 O 0 O
O0-x1+1-x24+0-x34+0-xa+1-x5+0-x6+0-x7+1-x8+0-x0+0-x10+0-x11+0-x12| 54 6 2 0 0 E(13)+ E(13) 2+ E(13) 34+ E(13) 4+ E(13) 54+ E(13) 6+ 2+« E(13) 7T+ 2+« E(13) 8+ E(13)"9+ E(13)" 10+ 2 E(13)" 11 + E(13)" 12 2+« FE(13)+ E(13)" 242« E(13) 3+ E(13) 4+ E(13) 5+ E(13) 6 + E(13)" 7+ E(13)" 8+ 2+« E(13)" 9+ E(13)" 10+ E(13)" 11 + E(13)" 12 E(13)+2«E(13)" 24+ E(13) 3+ E(13) 4+ 2« E(13)" 54+ 2« E(13) 6 + E(13)" 7+ E(13)" 8+ E(13)" 9+ E(13)" 10+ E(13)" 11 + E(13)" 12 E(13)+ E(13) 2+ E(13) 34+ 2« E(13) 4+ EF(13) 5+ E(13) 6+ E(13) 7T+ E(13) 84+ E(13)"9+ 2+ E(13)" 10+ E(13)" 11 + 2 x E(13)" 12 o o0 O O OO O 0 O 0 0 o 0 0 o0 0 0 0O 0|0 0O 0 O
O0-x1+1-x24+0-x34+0-xa+0-x5+1-x6+0-x7+1-xs+0-x0+0-x10+0-x11+0-x12 | 54 6 2 0 0 E(13)+2« E(13)" 2+ E(13) 3+ E(13) 4+ 2« E(13) 5+ 2% E(13) 6 + E(13)" 7+ E(13)" 8+ E(13)" 9+ E(13)" 10+ E(13)" 11 + E(13)" 12 E(13)+ E(13) 2+ E(13) 34+ 2% E(13) 4+ E(13) 5+ E(13) 6+ E(13) 7T+ E(13) 8+ E(13)" 9+ 2« E(13)" 10+ E(13)" 11 + 2« E(13)" 12 E(13)+ E(13) 2+ E(13) 34+ E(13) 4+ E(13) 54+ E(13)6+2x E(13)" 7+ 2+« E(13) 8 + E(13) 9+ E(13)" 10+ 2% E(13)" 11 + E(13)" 12 2% FE(13)+ E(13)° 242« E(13) 3+ E(13) 4+ E(13) 5+ E(13) 6 + E(13)" 7+ E(13)"8+2x E(13)" 9+ E(13)" 10+ E(13)" 11 + E(13)" 12 o o0 O O OO0 O 0 O 0 0 0o 0 0 o0 0 0 0O 0|0 0O 0 O
0-X14+0-xa+1-x34+0-xs+1-xs+1-x6+0-xr+1-xs+1-xo+1-x10+0-x11+1-x12|162 —6 2 0 0 E(13Y" 24 E(13Y" 5 + E(13)" 6 + E(13)" 7+ E(13)" 8 + E(13)" 11 E(13) + E(13)° 3+ E(13) 4+ E(13)° 9+ E(13)" 10 + E(13)" 12 E(13Y 2+ E(13Y" 5+ E(13)" 6 + E(13)" 7+ E(13)" 8 + E(13)" 11 E(13) + E(13Y" 3+ E(13)" 4 + E(13Y° 9+ E(13)" 10 + E(13)" 12 0 0[O0 0 O 0[]0 O 0 O 0 0 0 0 0 0 0 0 0 0[O0 0 0 ©
0-X14+0 x2+0-x3+1-xa+0-X5+0-x6+0-x7+0-xs+0-xo+1-x10+0-x11+1-x12| 81 -3 -1 1-E@®) —E®B"3 1+E(@8) +E®8)3 E(13Y 4 + E(13)" 10 + E(13)" 12 E(13Y 7+ E(13) 8+ E(13)" 11 E(13) + E(13Y° 3 + E(13)°9 E(13Y° 2+ E(13Y" 5+ E(13)°6 0 0/0 0 0 0|0 0 0 0 0 0 0 0 0 0 0 0 0 0|0 0 0 0
0-x1+0-x2+0-x34+0-x4a+0-x5+0-x6+1-x7+0-xs+1-x0+0-x10+0-x11+1-x12| 8 -3 -1 1+E@®) +E® "3 1-E@®B)—E(8)3 E(13)+ E(13)" 3+ E(13)"9 E(13) 2+ E(13) 5+ E(13)°6 E(13) 4+ E(13)" 10+ E(13)" 12 E(13y 7+ E(13) 8+ E(13)" 11 o ojo0o O O o0 O O O 0 0 0O 0 0 O 0 0 0O oj0 O 0 O
0-x1+0-x2+0-x3+0-x4+0-x5+0-x64+0-x74+0-xs+0-x9+0-x10+1-x11+0-x12| 27 3 -1 -1 -1 1 1 1 1 0O 0|0 O 0 0Ol0 O 0 0 0 0 0 0 0 0 0 0 0O 0|0 O 0 0
T x1 40 x2+0-x3+1 - xa+0-x54+0-x6+1-x7+0-xs+0-x0+0-x10+0-x11+1-x12] 72 0 0 2 2 —E(13) 2—E(13) 5—E(13) 6 — E(13) 7— E(13)" 8 — E(13) 11 “E(13)— E(13) 3— E(13) 4— E(13) 9— E(13) 10 — E(13) 12 —E(13Y 2—E(13Y 5—E(13) 6 — E(13) 7 — E(13) 8 — E(13) 11 —E(13)— E(13) 3— E(13) 4— E(13) 9— BE(13) 10 — E(13) 12 3 3]0 0 0 00 0 0 0 0 0 0 0 0 0 0 0 0 0]0 0 0 o0
0-x1+0-Xo+1-x34+0 ya+1-x5+1-x6+0-x7+0-xs+0-Xo+0-x10+0-x11+0-x12 | 45 -3 1 -1 ~1 E(13) 2+ E(13Y 5+ E(13) 6 + E(13)" 7+ E(13)" 8 + E(13)" 11 E(13) + E(13)" 3+ E(13) 4 + E(13)° 9+ E(13)" 10 + E(13)" 12 E(137 2+ E(13 5+ E(13Y 6 + E(13)" 7+ E(13Y" 8 + B(13)" 11 E(13)+ E(13Y" 3+ E(13) 4 + E(13)° 9 + E(13)" 10 + E(13)" 12 3 -3/0 0 0 0|0 0 0 0 0 0 0 0 0 0 0 0 0 0[0 0 0 0
1-x1+2-x24+0-x3+0-x4a+0-x5+0-x6+0-x7+1-xs+0-x9+0-x10+0-x11+1-x12| 90 10 2 2 2 -1 -1 -1 -1 o o}9 3 3 1/0 O 0 O 0 0 0o 0 0 o0 0 0 0O 0|0 0O 0 O
0-x14+0-X2+2x34+0 - xa+0-X5+0-x6+0-x7+0-xs+1-xo+1-x10+0-x11+1-x12 | 117 —11 1 ~1 —1 0 0 0 0 0 09 -3 -3 1]/0 0 0 0 0 0 0 0 0 0 0 0 0 0|0 0 0 0
O xi+1-x2+2-x3+0-xa+1-xs+1-X6+0-x7+2-xs+1-xo+1 x10+0-x11 +2-x12 | 252 —4 4 0 0 E(13)+ 2% E(13)° 2+ E(13)" 3+ E(13)" 4+ 2% E(13)° 5+ 2% E(13)" 6 + 2« E(13)" 7+ 2% E(13)" 8 + E(13)° 9+ E(13)" 10 + 2% E(13)" 11+ E(13)°12 2% E(13) + E(13)° 2+ 2x E(13)° 3+ 2« E(13)" 4+ E(13Y 5+ E(13)° 6+ E(13)" 7+ E(13)" 8 + 2% E(13)° 9+ 2% E(13) 10 + E(13) 11+ 2« E(13)° 12 E(13)+ 2+ E(13)° 2+ E(13)" 3+ E(13)° 4+ 2+ E(13)" 5+ 2% E(13)" 6 + 2% E(13)° 7+ 2« E(13)" 8 + E(13)° 9+ E(13° 10+ 2« E(13)" 11 + E(13Y"12 2+ E(13) + E(13)° 2+ 2% E(13)° 3+ 2% E(13)° 4+ E(13)° 5+ E(13)" 6 + E(13)" 7+ E(13)° 8 + 2« E(13)" 9+ 2% E(13)° 10+ E(13)° 11+ 2+ E(13)°12| 0 0 [9 -3 3 —-1|0 0 0 0 0 0 0 0 0 0 0 0 0 0[O0 0 0 ©
O-x14+1-x2+2-x3+0-xa+1-x5+1-x6+0-x7+2-xs+1-xo+1-x10+0-x11+2-x12(252 -4 4 0 0 E(13)+2xE(13) 2+ E(13) 3+ E(13) 4+ 2+« E(13) 5+ 2+« E(13) 6 +2+« FE(13) 7+ 2« E(13) 8+ E(13)"9+ F(13)" 10+ 2x E(13)" 11+ E(13)" 12 2x E(13)+ E(13) 242 E(13)"3+2x E(13)" 4+ E(13) 5+ E(13) 6+ E(13) 7T+ E(13) 84+ 2% E(13)"9+2x E(13)" 10+ E(13) 11+ 2x E(13)" 12 E(13)+ 2+« E(13) 2+ E(13) 34+ E(13) 4+ 2« E(13) 5+2«E(13) 6 +2x E(13) 7T+ 2x E(13) 8+ E(13) 9+ E(13)7 104+ 2 E(13)" 11+ E(13)"12 2+« E(13)+ E(13)" 24+ 2« E(13)"3+2x E(13) 4+ E(13) 5+ E(13) 6 + E(13) 7T+ E(13)"8+ 2« E(13)" 9+ 2« E(13) 10+ E(13)" 114+ 2« E(13)"12| 0 0|9 3 -3 —-1{0 0O 0 0 0 0 0O 0 0 O 0 0 0O oj0 O 0 O
1-x1+1-x2+0-x3+0-xa4+0-x5+0-x6+0-x7+1-xs+0-x0+0-x10+0-x11+0:x12| 39 7 3 1 1 0 0 0 0 o o3 1 3 13 3 1 3 1 1 o 0 0 o0 0 0 0O 0|0 0O 0 O
0-x1+0-x2+1-x3+0-x4+0-x5+0-x6+0-x7+1-xs+0-x9+0-x10+0-x114+0-x12] 39 -1 3 -1 -1 0 0 0 0 o 0|3 -1 3 —-1/3 3 -1 3 -1 -1 0 0 0 0 0 0 0 0|0 O 0 0
0-x14+0-Xa+1-x34+0-x4+0-X5+0-x6+0-x7+0-xs+1-Xo+0-x10+0-x11+1-x12| 78 —6 0 E(8)+ E(8)" 3 —E®)—E(8)"3 0 0 0 0 0 0|6 0 -6 0|6 -6 0 0 —-E®—-FE®8"3 ER+ES 3|0 0 0 0 0 0 0 0|0 0 0 0
0-x14+0-x2+1-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-xo+1-x10+0-x11+1-x12| 78 —6 0 —FE(8)— E(8) 3 E®)+ E(8) 3 0 0 0 0 0O 0|6 0O -6 0|6 -6 0 0 FEQB+EQ8 3 —-EQB-FES83/0 0 0 0 0 0 0O oj0 O 0 O
0-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x74+0-xs+0-x9+0-x10+0-x11+0-x12| 12 4 0 0 0 -1 -1 -1 -1 0o 0|3 1 3 113 3 1 -1 -1 -1 0 0 0 0 0 0 0 0|0 O 0 0
0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x74+0-xs+0-x9+0-x10+0-x11+1-x12] 39 -1 -1 1 1 0 0 0 0 o o3 -1 3 —-113 3 -1 -1 1 1 0 0 0 0 0 0 0 0|0 O 0 0
1-x1+1-x24+0-x3+0-x4a+0-x5+0-x6+0-x7+1-xs+0-x9+0-x10+0-x11+0-x12| 39 7 3 1 1 0 0 0 0 0o o3 3 1 170 0 0 O 0 0 3 3 1 3 1 1 0O 0|0 0O 0 O
0-x1+0-x24+1-x3+0-xa+0-x5+0-x6+0-x7+1-x8+0-x90+0-x10+0-x11+0-x12| 39 -1 3 -1 -1 0 0 0 0 0 0 3 3 -1 —-1|0 0 0 0 0 0 3 3 -1 3 -1 -1 0 0 0 0 0 0
0-x1+0-x24+1-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+1-x10+0-x11+1-x12| 78 —6 0 —FE(8) — E(8)3 EQR)+E®)3 0 0 0 0 0o o6 -6 0 0|0 O 0 O 0 0 6 -6 0 0 EQB+EQ83 —-EQB-FE®83/0 0|0 0 0 0
0-x1+0-x24+1-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-x0+0-x10+0-x11+1-x12| 78 -6 0 E@B)+E@8)3 —E(8)—-E@®) 3 0 0 0 0 0o o6 -6 0 0|0 O 0 O 0 0 6 -6 0 0 -—-E@B8—-EQB 3 EQ®+ES®3|0 0|0 0 0 0
0-x1+1-x24+0-x3+0-x4+0-x5+0-x6+0-x74+0-xs+0-x9+0-x10+0-x11+0-x12| 12 4 0 0 0 -1 -1 -1 -1 0o 013 3 1 170 O 0 0 0 0 3 3 1 -1 -1 -1 0O 0|0 O 0 0
0-x1+0-x24+0-x34+0-xa+0-x5+0-x6+0-x7+0-x8+0-x0+0-x10+0-x11+1-x12| 39 -1 -1 1 1 0 0 0 0 o o3 3 -1 —-1/0 0 0 O 0 0 3 3 -1 -1 1 1 0O 0|0 0O 0 O
1-x1+2-x2+1-xs+1-xa+1-xs5+1-x6+1-x7+1-xs+1-xo+1 -x10+0-x11+2 x12 268 2 2 2 2 -2 -2 -2 —2 3 1/6 O O 20 O 0 O 0 0 o 0 0 o0 0 0 3 110 0 0 O
0-X14+0-x2+2-x3+0-xa+1-Xs+1-x6+0-x7+1-xs+0-xo+0-x10+0-x11+1-x12 | 123 -5 3 -1 -1 E(13)" 2+ E(13Y"5 + E(13)" 6 + E(13)" 7+ E(13)" 8 + E(13)" 11 E(13) + E(13)° 3+ E(13) 4+ E(13)° 9+ E(13)" 10 + E(13)" 12 E(13Y° 2+ E(13Y" 5+ E(13Y° 6 + E(13)" 7+ E(13)" 8 + E(13)" 11 E(13) + E(13Y° 3+ E(13)" 4 + E(13Y" 9+ E(13)" 10 + E(13)" 12 3 -1|6 0 0 -2/0 0 0 0 0 0 0 0 0 0 0 0 3 -1/0 0 0 0
1-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12| 1 1 1 1 1 1 1 1 1 1 1|1 1 1 171 1 1 1 1 1 1 1 1 1 1 1 1 1|11 1 1 1
0 x1+0-y24+1-x34+0-xa+0-x54+0-x6+0-x7+0-xs+0-Yo+0-x10+0-x11+0-x12| 13 -3 1 ~1 -1 0 0 0 0 1 —1|4 0 -4 014 -4 0 0 0 0 1 1 -1 1 -1 -1 1 —1/1 1 -1 -1
0 x14+0-x24+1-x3+0-X4+0-x54+0-x6+0-x7+0-xs+0-Xo+0-x10+0-x11+0-y12| 13 -3 1 ~1 -1 0 0 0 0 1 -1[4 -4 0 0|1 1 -1 1 ~1 -1 4 -4 0 0 0 0 1 —1]1 -1 -1 1
O-x14+0-x24+1-x34+0-x44+0-x54+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+1-x12| 52 -4 0 0 0 0 0 0 0 1 1 (7 -3 -3 =114 -4 0 0 0 0 4 -4 0 0 0 0 1 1 1 -1 1 -1

Py = Group([()]) = 1
Py = Group([(2.11,12)(3,9,5)(4, 13,6)(7, 10,8)]) = C3
= Group([(2,10,6)(4,11,8)(7,13,12)]) = C3
Py = Group([(3,9,5)(4,11,8)(7,12,13), (2,10, 6)(4, 11, 8)(7, 13,12)]) = C3 x C3
= Group([(2,12,4)(6,13,8)(7, 11, 10), (2,10, 6)(4, 11, 8)(7, 13, 12)]) = C3 x C3
Ps = Group([(2,11,7)(3,5,9)(4, 12, 6)(8, 13, 10), (2,10, 6)(4,11,8)(7,13,12)]) = C3 x C3
Py = Group([(2,11,12)(3,9,5)(4, 13,6)(7, 10,8), (3,9,5)(4, 11, 8)(7, 12, 13), (2,6, 10)(3, 5, 9)(4, 11,8)]) = (C3 x C3) : C3
Ny = Group([(2,4)(3,5)(6,8)(10, 11), (1,2, 3)(5,6,7)(8,9,10) (11,12, 13)]) = PSL(3,3)
Ny = Group([(2,11,12)(3,9,5)(4, 13,6)(7, 10, 8), (4, 13)(5, 9)(7, 8)(11,12), (2, 10, 6) (4, 11,8)(7, 13, 12)]) = C3 x S3
N3 = Group([(4,12)(6,10)(7,8)(11, 13), (4, 13)(5,9)(7, 8)(11,12), (3,9, 5)(4, 11, 8)(7, 12, 13), (2,10, 6)(4, 11, 8)(7, 13, 12), (2, 4)(6, 11)(7, 13)(8, 10)]) = ((C3 x C3) : C3) : (C2 x C2)
Ny = Group([(4,12)(6,10)(7,8)(11,13), (3,12, 11)(4,5,7)(8,9, 13), (2, 3)(5, 6)(9, 10)(12, 13), (4, 13)(5,9)(7,8)(11, 12), (3,9,5)(4, 11, 8)(7, 12, 13), (2, 10, 6)(4, 11, 8)(7, 3, 2)]) >~ (((C3xC3): Q8): C3): C2
Ny = Group([(2,12,4)(6,13,8)(7, 11, 10), (1, 9)(4, 6)(10, 12)(11, 13), (4, 13)(5,9)(7, 8)(11, 12), (3,5)(6, 10)(7, 13)(8, 11), (3,5)(4, 12)(7, 11)(8,13), (2, 10, 6)(4, 11, 8)(7, 13,12)]) = (((C3 x C3) : Q8) : C3) : C2
N = Group([(4,13)(5,9)(7,8)(11,12), (2, 11, 7)(3,5,9)(4, 12, 6)(8, 13, 10), (3,5)(4. 12)(7, 11)(8, 13), (2, 10, 6)(4, 11,8)(7, 13, 12)]) = ((C3 x C3) : C3) : C2
N7 = Group([(4,12)(6,10)(7,8)(11,13), (2, 11,12)(3,9, 5)(4, 13,6)(7, 10, 8), (4, 13) (5, 9)(7, 8)(11,12), (3,9, 5)(4, 11, 8)(7, 12,13), (2,6, 10)(3,5,9)(4,11,8)]) = ((C3 x C3) : C3) : (C2 x C2)



